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ENGLISH

Time Allowed : 2.00 Hours ] [ Maximum Marks : 100

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately.

(2) Use Black or Blue ink to write.

Note: (i) Read each question carefully before answering it.

(i) Write neatly and legibly.

PART -1
SECTION - 1
Choose the correct synonyms of the underlined words from the options given. 5x1=5
1.  The mother consoled her little girl.
(a) pretended (b) comforted (c) left (d) slapped

2.  Miniature paintings depict Indian culture.

(a) portray (b) twist (c) falsify (d) warp
3.  Issac was chiefly remarkable for his ingenuity.
(a) notable (b) neglected () unknown (d) common

4.  Asif quarreled with his friend.

(a) fought (b) differ (c) peace (d) fun
5.  We can't ignore the benefits of internet.
(@) harm (b) popularity (c) favourable (d) disadvantages
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12.
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15.

SECTION - 2

Choose the correct antonyms of the underlined words from the options given.
Ajay mastered the techniques of painting.

(a) experienced (b) unskilled (c) wasted (d) proficient

He was observed to be usually busy with his tools.

(a) common (b) rarely () unwantedly (d) frequently

It is a latest mobile.

(a) updated (b) modern (c) outdated (d). new

The vegetables look fresh .

(a) rotten (b) dull () mew (d) weak

The explosion had weakened the building’s foundations.

(a) dreary (b) strengthened . (c) dull (d) weak
SECTION - 3

State whether the statements are True or False.

Two sparrows built a nest on a tree top.

The king promised to restore the property of the bearded man.

Teacher had taught about the rules of road safety.

Vetri and Asif were good in studies.

The hen laid a perfect iron egg.

5x1=5

5x1=5
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PART - II
Identify the character/speaker.
Goodbye mother.

“Now rest awhile - and let me work a bit ?”

Form new words using appropriate prefix or suffix :
im, ion, re, able)
a) call

(
(
(b) comfort__
(
(

C

|

|

|

|

|

|

|

|

I
o

=

O
o

[¢°]

=

d) construct
Syllabify the following words :
(a) mutiny

(b) book

Write the following sentences in the reported speech :
(a) Ram said, “I have won the match”.

(b) “What are you reading Pushpa ?” asked Punitha.

(i)  Give the Plural to the following words :
(a) foot
(b)  syllabus

(i) Give the abbreviations for the following :
(a) ATM
(b) SBI

Fill in the blanks with the correct degrees of comparison :

(a) fast faster
(b) happy happiest

(c tl tallest

(d) intelligent more intelligent

7302

2x1=2

2x1=2

4x1=4

2x1=2

2x1=2

2x1=2

2x1=2

4x1=4
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4

Make compound words by matching Section A with Section B.

Choose the correct conjunctions from the options given in the brackets :

(@)
(b)
(©)
(d)
()

Section A Section B
head fall
drawing box
SNow machine
match master
sewing room

Everyone likes him

it was cloudy, we decided to take an umbrella. (So/ As)
she had left it. (wherever/where)

Rathi found her watch

I don’t know I can afford to buy a new dress or not. (whether/why)

You can’t have your fruits

Read the following passage and answer the questions given below :

he is very helpful. (because/for)

you take your food. (unless/so)

5x1=5

5x1=5

3x1=3

Jim Corbett played a key role in establishing, India’s first national park in the Kumaon
Hills, the Hailey National Park, in Uttarakhand, India. It was initially named after Lord
Malcolm Hailey. Jim Corbett died on 19 April 1955. The park was renamed in 1957 as, The
Jim Corbett National Park. It was named after him to honour his role in establishing this
protected area in 1930s.

Questions :

(i)

Who played a key role in establishing the National Park ?
Why was the park named Hailey National Park ?

When was it renamed as Jim Corbett National Park ?

Translate the following proverbs :
(a) Timeis gold
(b) Face is the index of the mind.

Fill in the blanks with the right tense form given in the brackets :

(a) Sita (write) a letter to her mother.
(b) Ram (run) as fast as he can.

(c) Our teacher (teach) grammar today.

2x1=2

3x1=3
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PART - III
SECTION - 1
Punctuate any one of the following sentence :
(i) 1ilike playing with my friends sandy sunny sameer
OR
(i) lets eat grandpa

SECTION - 2

Answer any five of the following questions given below.

Where did the sparrows build the nest ?

What happened to Ajay at the age of three ?

Who was taking care of Newton after his father’s death ?

What is must in every house hold ?

Why did Vetri sell his properties ?

Who is an Online predator ?

Why was Jack surprised when reaching the sky ?

What did the Giant eat for meal ?

SECTION - 3

Answer any two of the following questions.

Read the following lines and answer the questions given.

“There is something special
about a father’s love”.
(a) Identify the alliteration in the given lines.

(b) There is something in a father’s love.

7302

1x2=2

5x2=10

2x2=4
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41.

42,

If all the children could read,

In constructing a vigorous society,
Then we shall succeed.

(a) What is the theme of the poem ?

(b) What can children do to society if they read ?

Mistress, Master, hear me yelp,

I'm out - of - doors, I want your help.
Let me in - oh, LET ME IN

Before those fireworks begin

(a) Why was the dog frightened ?
(b) Whom did the dog ask for help ?

PART -1V
SECTION -1

Answer any one of the following questions in a paragraph.

Mention some of Newton’s inventions.

Write about road safety rules.

What happens if someone is addicted to mobile phone ?

SECTION - 2
Write a paragraph about any one of the following :
(a) About your father.
OR

(b) Library and its uses.

1x5=5

1x5=5
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SECTION - 3
Hints Developing

43. Read the following hints and develop into a understanding paragraph. Give a suitable titl%. 5.5
x =
(a) Farmer in a village - had a hen - golden egg - farmer became rich - selling golden

eggs - he is greedy - an egg everyday - not enough - thought to get all eggs - kill to get all
eggs - killed the hen - found no eggs - farmer was very sad.

OR

(b) A wood cutter - cutting wood - dropped his axe in the pond - started weeping - angel
appeared - asked what the matter was - brought a golden axe - from the pond - wood
cutter did not accept - brought a silver axe - not accepted - brought an iron
axe - accepted - pleased with the honesty - offered all the axes to him.

PART -V
44. (a) Write a letter to the Post master General on non - receipt of a book parcel. 1x10=10
OR

(b)  Write a letter to your friend about your summer holidays.

PART - VI
45. Quote from memory : 1x6=6

Write the first six lines of the poem “Special Hero”.

-00o0-
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Sleyenraer : (1)

(2)

Instructions : (1)

Smarsg larmssEpd sflursl udeurdl oErersT 6T6TL S M aTF
silurTggs Oamearerab. FsLLSleler Gapuilmider, mns
sagrentLuTerflLb o L amnquinss CsfledlsseaLb.

Beod g  s@mUY awbulomear WLHCWL  ergeusH @b
33 &CHTyHeusH@GL LTSS Couamm(hd. UL BISGET euenFeusnd
Quendled LweT(hSSeLD.

Check the question paper for fairness of printing. If there is any lack of fairness,

inform the Hall Supervisor immediately.

Use Blue or Black ink to write and underline and pencil to draw diagrams.

L&) - I/PART - I

CQar@ssiiul(perer  wrHH deLsaler Wsebd goHymLw lLamws
CambOs(hdss GOUILHLer el wlamanyb GCFrsgl er(PSaLb. 15x1=15

Choose the most appropriate answer from the given four alternatives and write the option
code along with the corresponding answer.

1. (-2) 3x(—2)7%=__
-1 1

(<) 35 (<) 35 (@) 32 () -32
(=2)73x(=2)72=__
-1 1

(a) ED) (b) 30 (c) 32 (d -32
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2
- 10° el x ayensy
10
(1) 4 (=) 5 (&) 6 () 7
If 10_3 = 10° then, x is
10
(a) 4 b) 5 (c) 6 @ 7
242 o | e 0& gl lgemed 252 & QumeLb.
(1) 42 (=) 52 (&) 6° N
is added to 242 to get 252.
(a) 42 (b) 52 () 62 (d 72
L +y Qe @ sryenfl <4 @&LD.
(=) x—y (=) x+y (&) \(x+y)? (F)  (x—y)?
One factor of x3+y°3 is
(@) x-y (b) x+y (©) (x+y? (d (x-y?*
9x2+6xy @6 SMyest&ern <G LD.
(1) 3y, (x+2) («21)3x, (Bx+3y) (@) 6x, 3x+2y) () 3x, (Bx+2y)
Factors of 9x2+ 6xy are :
(a) 3y, (x+2) (b)  3x, (3x+3y) (c) 6x, (Bx+2y) (d) 3x, (3x+2y)
X2 —5x+6 @ar sryeilser (x—2) (x—p) erasiled, p @eir iy <4 @&LD.
(<=1) -3 (=4)3 (&) 2 (FF) =2

If the factors of x2—5x+6 are (x—2) (x—p) then, the value of p is

(a) -3 (b) 3 (c) 2 d -2


https://www.padasalai.net/
https://www.padasalai.net/

10.

11.

3 7303

@@ up edwrumfl ¥ 200 &@ uprisamer alldm T 40 &g @eruwnsl Qumdlpmi.

Sjaufler @Qeoru Fgaisb G LD.
2
(1) 20 (<) 22 (&) 25 () 162
A fruit vendor sells fruits for ¥ 200 gaining I 40. His gain percentage is
2
(a) 20 (b) 22 (c) 25 (d) 165

16% SeTepuiquiler T 210 &@ eummsluLlL ¢ Casmibuier @&hlss edllena ereer ?

(1) T 243 (=,)3 176 (@) %230 (/r) %250
What is the marked price of a hat which is bought for ¥ 210 at 16% discount ?
(a) 243 (b) R 176 (c) 230 (d) 250

@uenr(h  QFTLIT HeTEpLgSeTTen 20% wHMID 25% SlueupdnsE Blarmer Gy
SET@HLLG. FHEISHLD <4 &LD.
(=) 40 (=) 45 (&) 5 (FF) 22.5

The single discount in % which is equivalent to two successive discount of 20%
and 25% is

(a) 40 (b) 45 (c) 5 (d) 22.5

12 Q.18 omibd 16 C&.8 LiGs Siera|smend QETarrL em Clan Csmewt WPp&CHranTs e

SHITETLD 2 GID.

(<=1) 28 Qg.18 (<=1,) 20 Q&5 (@) 24 Q.5 () 21 Q&.18
The hypotenuse of a right angled triangle of sides 12 cm and 16 cm is
(a) 28 cm (b) 20 cm (c) 24 cm (d 21 cm

Bard 21088 wHmD epewealb 29 Q& ety w @ GFcieussd e
LFLILIGTE]

(1) 609 Q&.152 (<=,) 580 Qg.152 (@) 420 Q.52 (/) 210 Q&.152

The area of a rectangle of length 21 cm and diagonal 29 cm is

(a) 609 cm? (b) 580 cm? (c) 420 cm? (d) 210 cm?
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12. @Qawr(h erewrgeflen WSLGLIME QuTgd smyeuw Talley, eney FTT LIST
GTEITSHET GTaTLILI(HILD.

(1) 2 (<) 3 (&) o () 1

Two numbers are said to be co-prime numbers if their HCF is

(a) 2 b) 3 (c) O d 1
13. 36, 60 woHmID 72 @er CQung LET sTreRtlSeT G LD.
(1) 2x2 (=) 2x3 (@) 3x3 (FF) 3x2x2

Common prime factors of 36, 60 and 72 are

(a) 2x2 (b) 2x3 (c) 3x3 (d) 3x2x2

14. udder_Lrmeug wpmibd uSHCarpreug WLCaS erawa@EpsSlenullemer eSS wmFDd
________ <G,

(<=1) 233 (=) 377 (@) 610 () 987

The difference between the 18t and 17t Fibonacci number is

(a) 233 (b) 377 (c) 610 (d) 987

15. GQuCarmél erair Cgm_Med epeubleumm 2 MIUILID 8-(@)6I DL MhIE; <G LD.
(<=1) 2 ousl () 4 ezl () 6 ez () 8 <oug)
Every number of the Fibonacci sequence is a multiple of 8.

(a) 2nd (b) 4th (c) 6t (d) 8th
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19.

20.

QuUITBHSSI5.

Match the following.

ggIrSSlen LFLLGETE

Area of square

(a+b)2

(a+b)?

(a—b)?

(a—b)?

M FgITSSHer LrliLiene,

Area of rhombus

U@3| - II/PART - II

1
— xd; xd
5 1 2

—XdIXdQ

(a+b) (a—Db)

(a+b) (a—b)

a2 —2ab+b?

a2 —2ab+b?

a2 +2ab+b?

a2 +2ab+ b2

7303

5x1=5
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25.

U@g| - III/PART - III

aTamauCGug)d 10 alemmésErsE edlenLwefléEseab.

Answer any ten of the following :

LI srewrs : 473

Find the value of 4 3.

27,000- Q60T SETELPOSENS SHTEUTS.

Find the cube root of 27,000.

17- @6 QUTGHD SHTEHTS.

Find the square of 17.

5, 4
Simplify (—3)* x (5)

13
S| STeurs : (Ej

13
Evaluate | —
vuae(Qj

10x2=20
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26. 7.5 Q&5 <yrperer g avlleataryreang @M F Sarejdrem el L&CamenTl
u@dsarrsl WMsst ul(hererg erare, euboumm aulL&Camenris Li@dudle

27.

28.

29.

30.

LUTUUETEDEUWLLD  SITE0TS.

A spinner of radius 7.5 cm is divided into 6 equal sectors.

the sectors.

srrentll U(HSSIS : x°+8x+ 15.

Factorise x?+8x+ 15.

(98)3 -a1 WL FTerTs.

Find the value of (98)°.

fleun&@s : (x+3) (x+5) (x+2).

Expand (x+3) (x+5) (x+2).

ﬁfré;a; :2x+5=09.

Solve 2x+5=09.

Find the area of each of

[ SLiys / Turn over
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31.

32.

33.

34.

35.

36.

400 -1 30% LDg%]lJlﬁ]Giﬂ 25% crevTenT ?

What is 25% of 30% of 400 ?

Ygraren Cenmsens 6r(ps)s.

State Pythagoras Theorem.

sgIrsdlen gECHenId QreamT(h LIGHTLSEMET 6T(LPS)Is.

Write any two properties of square.

QgL au@gdse wperpuler BLGL@ Qurgs srrafleowd Srenrs.
455 wHmib 26.

Using repeated division method, find the H.C.F.

455 and 26.

U@ - IV/PART - IV

TaneuCGuad 8 cllam&s@ER&@E; adlan_Wel&se,Lb.

Answer any eight of the following :

BeT cu@SsD (perpuiled aINES POSMSEH SHTERTs.
11025
Find the square root by long division method.

11025

24 X 36 X80 X 25 -@)60T SHEELPEILD &TEuTs.
Find the cube root of

24 %x 36X 80x25

8x5=40
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37.

38.

39.

40.

41.

(=7 2% (=7)5=(-7)10 crafled x }& MRS,

) . . —6 i —-12
83')_|_|_@_|LD 11, 117 _11
ada 2, 2, 212

117 117 11
Find x, so that
(=7)*2x(=7)°=(-7)1°

aul L& Garavrliu@gduder upliLemey srars. ail L afldeder Herb=48 15, r=10 Lf.

Find the area of the sector.

(2x+5y) wHMID (Bx—4y) LU AUMHSES.

Multiply : (2x+5y) and (3x—4y)

srrenill U(HSSHE : 7c?+2c—5.

Factorise : 7c2+2c—5.

Length of arc=48 m, r=10 m.

7303
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42.

43.

44.

45.

46.

10

@irar(h eraseflen g(hse 36. GID DeuDMET 6 eTewr LHEMHTT eTewTanemT G
8 FSLD TN, DBS CTETHMETE HTEHTS.

The sum of two numbers is 36 and one number exceeds another by 8. Find the
numbers.

@ erawrewtlen WSl 25% Gemssre 120 SlenL&Hmg cTaled, b 6TeHTenewTd
ST

When a number is decreased by 25% it becomes 120. Find the number.

A wpmib B dlwu Qe @Qevanthgl ¢ Couameanwt 16 Brlisgefled wpig L.
A zaflCu ops Caumaew 48 prisefle @piglurt oeafle, B galCu ibs
Couemavanw ersgenar Brlsafled (piqliLimm ?

A and B together can do a piece of work in 16 days and A alone can do it in
48 days. How long will B take to complete the work ?

R @@ Fouss WsCaTargdler FoUGSHIGE eibeaimamd 13 G&.1S whmib
SlgLILEHD 24 QF.15 cTeifled DF6T 2 WTSNSS HTewTs.

An isosceles triangle has equal sides each 13 cm and a base 24 cm in length.
Find its height.

Qarit sflsze peppufer BLQLMm QurgissTranflenws srers.
280 WdHmith 420.

Using repeated subtraction method find the H.C.F. 280 and 420.
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47.

48.

11 7303

L& - V/PART - V

emeumd  ellamésEns@ ellenLwefl&Esea]b. 2x10=20

Answer the following questions.

(=) NI=4.5 Q&.15, IC=4.3 @&.15, NE=3.5 @&.15, NC=5.5 Qg..5 wpmid IE=5 Q.15
I Sjemeysenens Gamenwr NICE eremm BTHSTLD eUeThgl <HS60T LIFLILIGTENGUS
SITE00TS;.

3|6V6VG)

(<=4,) NS=9 Qg..5 wHmid ET=8 Q&..5 jereyser Cameawr NEST erenin Fmiiag)ybd
UMIThG| DNSH6T LITLILIGTENGUS STEHTs.

(a) Construct a quadrilateral NICE with NI=4.5‘cm, IC=4.3 cm, NE=3.5 cm,
NC=5.5 cm, IE=5 cm. Find its area.

OR
(b) Construct a rhombus NEST with NS=9 cm and ET=8 cm. Also find its area.

(1) y="7x eTadin FOGTUTL_IqME QUEFLIL LD GUEDTS.
3|6V6V5)
(<) y=6 eTeIn FLOGTLML 9@ GUEMTLIL LD GUMTS.
(a) Draw the graph of y=7x.
OR

(b) Draw the graph of y=6.

-00o0-
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&Me 2jere] : 2.00 wewfl CHrb | [ Qwrgs wHlbuamser : 100
Time Allowed : 2.00 Hours ] [ Maximum Marks : 100
leyenraer : (1)

Instructions :

(2)

(1)

Smansg ellemsgend sflurgl udleurdl o drergm arearigamer FlLMTsgis
Qamaremeybd. F&HLILSald GHeDullmLiden, ienms. sersmenillimerilLb
o | amquinss Cgfledssal.

Beod g  s@mUY @bloar. bUHCL  TWgusH @b
33 &CHTyHeusH@GL LTSS Calamm(Hibd. UL BISGET euenFeusnd
Quendled LweT(hSSeLD.

Check the question paper for fairness of printing. If there is any lack of fairness,

inform the Hall Supervisor immediately.

Use Blue or Black ink to write and underline and pencil to draw diagrams.

U@&3) - I/ PART - I

9lfley - 1 / SECTION - 1

Qarhs&siul(herer wrHme elenLsafler WEeD gHUmLW el mws
Carbosbhsss ML (her el ulamenyb Cardg 6r(LpseyLb. 15x1=15

Choose the most appropriate answer from the given four alternatives and write
the option code along with the corresponding answer.

1. sLe LSS alefbar o (Wpsss5Hlen S :

(=1) 76 Q&.18. UTETEs HLOLID (=) 760 Q&.8. uNgrgs SOULD
(@) 176 Q&.8. LUNsFFs SOUID (r) 7.6 Qg.15. UTETEs LD
The value of the atmospheric pressure at sea level is :

(a) 76 cm of mercury column (b) 760 cm of mercury column
(c) 176 cm of mercury column (d) 7.6 cm of mercury column

[ SlpLiys / Turn over
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2. QauliugsLgse (peppuiledr Ceui < mmed LfbrHmbd & BHenL GLmiid.
(=) S Qumper (<) Slreus Gummer
(@) eumyts Gummer () Cuhemmdu Senarsgid
Conduction is the way of heat transfer, which takes place in a
(a) solid (b) liquid
(c) gas (d) all of the above

3. e 2 (mdl erevmLg)
(<) gme
(=) Gonbs Wer senL Cgmer e Wer Sl
(@) <ids e gL QararL g Wer sbA
() Wer &Henm sanl DFeusHEGL LWeTUOSSUILHLD ¢ LUTSHSTUILS S(Hadl.
Fuse is
(a) a switch
(b) a wire with low resistance

(c) a wire with high resistance

(d) a protective device used for breaking an electric circuit

4. YereumeuaTeuDmIeT @enFFFed FHLI(heug 6rg ?
(<) erfl&aen (=) LT SYPSFD (@) USLLID (FF) @enel naTsgID
Which of the following may be caused by noise ?

(a) Irritation (b) Stress (c) Nervousness (d) All the above

5. Qeul i pdler Lgplurs wrmeusn@s sremronet Bl

(<) BCrhlw QoY (II) psmen(

(<) Cevaflen

(@) evLmre

(rF) eCamer

The pigment responsible for browning of apple is
(a) hydrated Iron II oxide

(b) melanin

(c) starch

(d) ozone
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CaGar(h ssrger D 2 (HeUMGSHLILIL L ene.
(S1) WTEFMLWDHD FHISETHET

(<=,) Coir e san QLD FiseTSHET

(@) erdlir W Fend QUDM FISETHET

() Cumhsarl ergieleane

Cathode rays are made up of

(a) neutral particles

(b) positively charged particles

(c) negatively charged particles

(d) mnone of the above

S| OGO RIGET FEEUMWL 2 L ULIGNG.

(1) yafliy (=) @ediliiy (&) ssuy (/) ety
Acids are in taste.

(a) sour (b) sweet (c)  Dbitter (d) salty

eraigl 2 wisroie Hleossfl cuamswunglb.

(=) S (<) S Gemerm (@) G@larev  (FF) <yboSrensl

is the coal of superior quality.

(a) Peat (b) Lignite (c) Bituminous (d) Anthracite

greGeu (panm o HuSH Gew LwerLhSng.

(1) semanrmiby B (<) smHCoHpd Celwtiul L Bi
(@) eumened aulg Bir (rr) Camguwid sriuCGer

Solvay process is a method to manufacture

(a) lime water (b) aerated water

(c) distilled water (d) sodium carbonate

7305

[ SlLiys / Turn over


https://www.padasalai.net/
https://www.padasalai.net/

7305 4

10. ursefurgser, allgeugdlen iiqlien_udle Gfleyserms euensiL(bhS-
LI (DeTeret.
(=1) 2 (=) 3 (&) 4 (/) 5
Based on shape, bacteria are classified into types.
(a) 2 (b) 3 (c) 4 (d 5

11. @Q@mEsmQuuf(® wperm Wpser (PFeled MPSLILIHSSILILL. e :

(1) 1970 (<=y,) 1975 (@) 1978 (rF) 1623

Binomial Nomenclature was first introduced in the year :

(a) 1970 (b) 1975 (c) 1978 (d) 1623
12. o L &flan 261 GpHlevewerw Frrsli upmofggen erarliLI(hD.

(=) senatlaned &HTHH6 (<) CapmslGwimen e

(@) CapmACwimenserdlen (/F)  CoupmOGuwims 9 adlgen

Maintenance of constant internal environment of the body is known as

(a) homeostasis (b) homeophytes

(c) homeokinesis (d) homeophilics

13. Yereupeuareunmier Lghesalwmele eveonsg) crg ?

(=1) ugelen gmewTd (=) wsallen AmyBr
(@) suldr (FF) &GS
Which of the following is not present in Panchagavya ?
(a) Cow dung (b) Cow’s urine
(c) Curd (d) Sugar
14. cuer elemiE LUMHSTILE FLL D LD A,&T(H BEOL(LPEnDLILI(HSSLILIL L G).
(=) 1986 (=) 1972 (@) 1973 (rF) 1971
Wildlife Protection Act was implemented in .
(a) 1986 (b) 1972 (c) 1973 (d) 1971

15. MYemeumeuareummeT sTHESSTe SHeurliL(ib Clummer
(=) wruumrmerser (=) gCaanibd gff 2 Cansid
(8) smdlyb (FF) @\ ®LDL| OOHMID 6To o
A magnet attracts

(a) wooden materials (b) any metal
(c) copper (d) iron and steel
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16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

5 7305

lfley - 2 / SECTION - 2

Camgl L @)L migemer BHlrliLs. 10x1=10
Fill in the blanks.

e(m Come ererLg) SGHET VG| PLPOEFMSN6TS ol FTeuT(H T
One mole of a substance contains atoms or molecules.
Blwe o wigd cldlenw oqlinenLwnss Camear(h CewudubiEng.

Hydraulic lift works under the principle of

ST L(HSFIeUT savrgsamer LNGCsmdlas LwemhSSID Dplq

The mirror used by the ophthalmologist to examine the eye is

LievLafler  @mluid

The symbol of tungsten is

@ mburerer Qumrperser B wHmD 2 sallyLem gimLidgsdlemmer.

Iron objects undergo rusting when exposed to water and

e»BLFET STHenm 6l

Nitrogen is than air.

Biler Qardl Hlane

The boiling point of water is

i ctor e udl flsaper 61 2 S| GT STemr (LplgU|Lb.

Micro organism can be seen with the help of a

Oadevmeng, TGN DS eSS LI(HE D).

The size of the cells are measured in units of

QwyF g0 uppTEGED 5@ aiflau@ssing.

Iron deficiency leads to

[ SlLiys / Turn over
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lfley - 3 / SECTION - 3

QuUTHSSIs.

26. Gauliuflena -
27. av@ped 6l -
28. am) -
29. Goaflmelilgse -
30. 95CLar HLUSH -
31. GuCwml.emud -

32. warem g(h -

33. @ndlrm arhd Caflwls yrism
34. @ERsCamen -
35. 15 FLe -
Match the following.
26. Temperature -
27. Snell’s Law -
28. Atom -
29. Condensation -
30. Octane rating -
31. Phaeophyceae -
32. Skull -
33. Indira Gandhi National Park -
34. Glucose -

35. Dead Sea -

aumy yaunrsa

22 GT@IDL|GET

G&aflEs ojvevgl QeuliLigdlen 2jere]
sini/sinr=p

LUCummeter &L (HLOmeT <iad
CO,, B wHmb QeuliLid

SOIPHTH

QuLCrméd

2 IL|SFEenD’ F LD

LUy Limé)

Gas to liquid

22 bones

Measure of hot or cold
sini/sinr=p

Building Block of Matter
CO,, H,O, Heat

Tamil Nadu

Petrol

High Salinity

Brown algae

10x1=10
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36.

37.

38.

39.

40.

41.

42.

43.

7 7305

Ylfley - 4 / SECTION - 4
eflih curisenssaiier eflen_wieflGseyb. 5x1=5

Answer the following questions in one or two words.

&4 &5MISS e wewtl Crrsdler HIOL (1peT eTgemar (penm &HMH auHLD ?

How many times will the minute hand rotate in an hour ?

glreu Hlencouligyierer rCaend epemm Camomisaners GO Hs.

Mention any three compounds that exist in liquid state.

ST6EL - GEUMIIIMISESHELD.
Define - ‘Thallus’.

<SP meuruded 2 eter @renr(h ellevmi@Gsaten ClULITHMmeTS Fnmis.

Name two endangered animals.

S| (PS&H6UM GTETMTE) 6T6T6T ?

What is cell address ?

U@&3 - I / PART - II
gCaeIbd LSE NaésEnsE FHéswns elawellése. 10x2=20

Answer any ten of the following questions.
Comed - cuenFUIMISSE6LD.

Define - ‘Mole’.

Lmevsed afldlenws gaml iger LWaTUT(HSMETS &(H.

State Pascal’s law and mention its applications.

Ceulin <y mmeder efeneare ser wWramel ?

What are the effects of heat energy ?

[ SlLiys / Turn over
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44. Qms5EL, QarFFSELD @l ulorear @rarh CounuUrHEmers $ms.

Give two differences between music and noise.

45. SlanrCuregefs erflGLmmeT craTmmed cTEvTeT ?

What are cryogenic fuels ?

46. WLIHL(HSHE GTETMTE GTEITET ?

What is pollution ?

47. 2 @MU 6TaTLIg) 6T6me ? FH6 LIWLIGTSHET WTenel ?

What is dry ice ? What are its uses ?

48. P 1dlg lHenws Fmmis.

State the law of constant proportions.

49. LS 2 &b BT - U TILIMGSEELD

Define - ‘potable water’.

50. BIDBISTL g GTETMTE GTemesm ?

What is an indicator ?

51. Qunens eumwjelen Hlenmaer wmenel ?

Mention the advantages of natural gas.

52. ardli 2 u9rECETw6 eremmmed eTeme ?

What are antibiotics ?
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53.

54.

55.

56.

57.

58.

9 7305

GeprCuimssepuil_(Haafleh TESHMET GUEGLIL|SET 2 6Temer ? ienel Wreneu ?

How many classes are there in Bryophytes ? What are they ?

LmeuenLgadlenr GLTg epUBID WwrHoBEsmeT LiL g uiedl(hs.

List out the changes which occur during puberty.

F& GUATITLIL| GTETDITEL GTEENT ?

What is tissue culture ?

L@&d - II / PART - III

lfley - 1 / SECTION - 1
YemeumeueameunMIM@ LIL LD eueihgl LITSHIGEETS GDIESHaLD. 2x5=10
Answer the following diagram questions.

cllem@ Ced UL LD cuenTHg LMSRISMETS @&DlSsaLb.

Draw Animal Cell and label its parts.

sfledldls o awre| TG (FaldLy). elenTs.
Draw neatly the pyramid of Balanced diet.

Ylfley - 2 / SECTION - 2
EpssTanid alammésEns@ olanwefléseab. 6x5=30

Answer the following questions.

(=) Blplildiflens eremmmed erenanr ? efleul&aeyLb.
S|VEVG)
(<) sGmAbL LT Caumer Celib algsams Cgafleurer LIL gL e aleufdsaLb.
(a) What is dispersion ? Explain in detail.
OR
(b) With the help of a neat diagram, explain the working of a calorimeter.

[ SlLiys / Turn over
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59. (=) wals srdler Sewliy bHnID Cewdur e elefsseab.
S|VEVG)
(=) Tr&E0s g6 LGHsmer 66T @s.
(a) Describe the structure and function of the human ear.

OR

(b) Explain the parts of a rocket.

60. (=) <dle waenpulfen afleneTeyseT Wranel ? g eTelelmn H(H&HOMD ?
S|6VEVG)
(=) uGoumy Hlevevgaied B LIFLIHZMOD 6llaTdEHs.
(a) What are the effects of acid rain ? How can we prevent them ?

OR

(b) Explain the different ways by which water gets polluted.

61. (=) led HMID STIEIGETET LILIGTSET WTenel ?
S|V6VG
(=) WwmSgeus gienmuiler merTamuimger ereucumm LweTU(hdlemmer ?
(a) What are the uses of acids and bases ?

OR

(b) How micro organisms are useful in the field of medicine ?

62. (o) QwGarrev@uibseien CQUTHBETTSTT (WPE&HLSFHIUSNS 656TEHGS.
S|6V6VG
(=) euaridlens IHDSS T UMNEFHMET 2 FTTETSSIL 6T 6N6TsE5.
(a) Explain the economic importance of Gymnosperms.

OR

(b) List out the different types of metabolism with an example.
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63. () wrsailmi spnHullenear LD ellersEs.
S|VEVG)
(=) srlh WL eTarmme eraner ? sT(H AHWPUEDSTET STTE@THRISGET LbHWILD
clleneTaygeneT 6lleTsEs.

(a) Describe the menstrual cycle.
OR

(b) What is deforestation ? Explain the causes and effects of deforestation.

-00o0-
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leyenrset : (1) Smarsg odarmss@pbd sflurst uHeurd o drarsn eraTLSMmaTE
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Instructions : (1) Check the question paper for fairness of printing. If there is any lack of

fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to/write and underline and pencil to draw
diagrams.

U@&3) - I/ PART - I

lfley - 1 / SECTION - 1

Qarhssiuul(herer wrom eldamLsealer Wsab gHymLw edaLamws
Camboshsss Gl HLer e ulamean b GCFrsgl eT(pgieLb. 10x1=10

Choose the most appropriate answer from the given four alternatives and write
the option code along with the corresponding answer.

1. 1757 yIb amige) UBISTETSNS L & QFlgeur

(1) sggm-2 5-Qgerem (=) Slyrsy-2 §-Cgerem
(@) St srélibd (rF) Sy sevgmenn

The ruler of Bengal in 1757 was .

(a) Shuja-ud-daulah (b) Siraj-ud-daulah

(c) Mir Qasim (d) Tipu Sultan

[ Splys / Turn over
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2.

srellen mr&Egen eThsLll LGHudler <l Huwimert ?

(<=1) wgiay (<) dBEpOGauad
(&) @umoprsLrd () &I881EG
Colin Jackson was the Collector of

(a) Madurai (b) Tirunelveli
(c) Ramanathapuram (d) Tuticorin

‘8 T@ID BanL_(Ppenm @SS L. er(h

(=) 1827 (<) 1828 (@) 1829 (rF). 1830
The practice of “Sati” was abolished in the year .
(a) 1827 (b) 1828 (c) 1829 (d)+. 1830

Ep&saTsupmer ergl “Lmenpd Camerd” eTer enp&sliu(Sng ?

(<) euaflarLeb (<) 2 wilr&Gamend

(@) HlewsCsmerid () Bir&Gamerid

Which of the following is known as ‘sphere-of rocks’ ?

(a) Atmosphere (b) . Biosphere

(c) Lithosphere (d) Hydrosphere

Gumflerr sryanrons Benl _GLMID @lqELwey 0F FTMHSH.
(<) wssailwe (<) &ep& OHMID SEOTEFSFTTLD
(@) <sirflwed (FF) QummeTTSTyLD

War is one of the causes of human migration.

(a) demographic (b) socio-cultural

(c) political (d) economic

< Ldflsgralen Cger Camg (pener

(1) Cols GermmiGam (<)) SAGOSTED (LPEnET
(@) pemembliGens (pene (rr) Csl Lajer

The Southernmost tip of Africa is .

(a) Cape Blanco (b) Cape Agulhas

(c) Cape of Good Hope (d) Cape Town
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10.

3

FOWE &5HAT 2 Mand rsail 6 CSTLTjenL_ig ?

<) bisgienp
<2,) LIMIT(@HLOGIT M LD

) gl 2 fenwser

(
(
(8) <irs Apdlpodpynssin Qsmdaams
(

Right to Freedom of Religion is related to

(a) Judiciary

(b) Parliament

(c) Directive Principles of State Policy

(d) Fundamental Rights

o FeBaTDD SenHGIETeT @)L LD

(<) Fewrig ST

Supreme Court is located at

(a) Chandigarh (b) Bombay

Gemeu(meuemeuD M SHLILL Lard @&eAiLSN @ SMTenToNaTelT&erT :

(=) eufl gUILILGITSET

(@) SLSSOSTITSET

(<},) LT

(8) sws550

(c) =~ Calcutta (d)

(&) LGI&HGLGUTHET
() Cpseam oenerds)Ld

Among the following who are responsible for Black Money ?

(a) Tax-evaders

(c) Smugglers

GUBISl LIewTLD GTeTLIg) 6Tg| ?

(<) arCGarene

(@) sLeT WwOHMmID LHM L enL
Which is the Bank Money ?

(a) Cheque

(c) Credit and Debit Cards

(b) Hoarders
(d) All of the above

(<=4) cuempey
() wgdlpd

(b) Draft
(d) Bond

(FF) Ug glevad

New Delhi
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lfley - 2 / SECTION - 2

Camgl L QL migemer HlFliLs. 10x1=10
Fill in the blanks.

11. wpseorwul Guprer
Sl efGSm.
The Mughal Emperor permitted the English to trade in India.

Qbdwureiler <mHCoursdr aufssnd Gauiw

12. ‘Slousmiansuiler HARIGD’ TaT PSS LT,

was called as ‘lion’ of Sivagangai.

13. gllppriger BslGuilu gups Frdmssairdsaied emaeu <L GUITIT.

was one of the greatest social reformers of Tamil Nadu.

14. ewt, SHeverl Luliger elleneredlliLSHE FHOSTGLD.

soil is highly suitable for millets cultivation.

15. Hlosstay QLMEE @f ThHSHSSTLLTGLD.

Landslide is an example of hazard.
16. Leluler Camer euigalld e Fwger LFLGe® euanruliLGL Wpedm____
ereriL (L.

A way of representing the spherical earth on a flat surface is

17. e Brligen , ' ABBT(H ULPBIGD @lqulwie woHmiID Ffluie o feanwsamerT
QUDS FGSLPLLIGUT el
The of ‘a'state enjoys full civil and political rights.

18. > wir. fHermid @bdHwmeller LpabwTar 2 Wi BSHamd D ELb.
The High Court is the oldest High Court in India.

19. SLGET LML S&ET OMID LMD LNl GelT LIGUTLDIT(G)LD.
Credit cards and Debit cards are money.

20. Qurgisgien Crpré&sd o L g

Public sector is on motive.
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21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

QuUITBHSSIS.

STETLIT

@nerLmb grGumadl
srgmuml CQperCrmad]
Casrimms

GDPDHS SH(PSSD
BT S @gen

2 [ Smyemwl

Blodulen U LLLb

@nmeomymid  Gomgen Fmil

Gauliiy

Match the following.
Kanpur

Sarofoji 1I

Dadabai Naoroji
Kedarnath

Low Pressure
Condensation of water
Push factor
Choropleth map
Rajaram Mohan Roy

Savings

lfley - 3 / SECTION - 3

Qedvens sram_e Camun()
&mmeuar

5i5T6| g6ligs eupLoTanD
saps Sidnsseund
CoumeveumiiLigesrento
BTG FT&lL

FLOW GOLOWILD

Freveudl ST

Coamiger

&(HSGI LI LD

Drain Theory

Cyclone

Consumer’s disposable income
Social reformer
Unemployment

Nana Saheb

Religious Centre

Saraswathi Mahal

Clouds

Thematic map

7307

10x1=10
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31.

32.

33.

34.

35.

36.

U@3l - I / PART - II
lfley - 1 / SECTION - 1

6UITeVMMm)| / HISTORY

sTemeuGWeIDd HIesI@ laTTésErs@ LM el welléseahib. 4x2=8

Answer any four questions only.

@eraugsi amerdl * el Camerdl’ erar ey ienLp&eLL(HE i ?

Why Prince Henry is called as ‘Henry the Navigator’ ?

glanenrlienL g S L gdler eanaCwpsHL prihsafler CQLLITsEmers @GHLE0HS.

Name the States signed into Subsidiary Alliance:

1857 - yld Y er(h YL SEETen o L erlgd STFemrd cTeme ?

What was the immediate cause of the Revolt of 1857 ?

Campr srogdd sapsGommaiu soall Hlaownigmers GOlLULHs.

Mention the education centres that flourished in Cholas Period.

waeIbarGssmiser sroalsgiel BaTULD auemiFHulle) Sl gelnmear s
Qobsar. eer ?

Hilly areas were distinctive features of colonial urban development. Why ?

Quaseflen (pearGarmnsHnars CuTTmgu WP&HWL Seneeurseaier O LWITSmeTs
GINICICE:S

Name the prominent leaders who fought for the upliftment of women.


https://www.padasalai.net/
https://www.padasalai.net/

37.

38.

39.

40.

41.

42.

7 7307

lfley - 2 / SECTION - 2

yellulwedo / GEOGRAPHY

sTemeuGIEIDd HIesI@ elaTésEns@ LMD elewellésab. 4x2=8

Answer any four questions only.

‘LTEnD&HET -~ GUMTLIMIGHELD.

Define : ‘Rocks’.

Caumu(hggis - euraflenew LHMID STevbHlene.

Distinguish between - Weather and Climate.

FHMIF GHPD DG QUIDEMSWITED QL Lb CLWTeUSDHSTET ST BIGMmETs Fnmis.

State the causes of the ecological or natural migration.

cupL_&ludler cuenasamards @MLK [Hs.

Mention the types of drought.

QaTOHHETEMED = UG TILIMEGSHELD.

Define : Industry’.

cauanyUL S Carl(h& sl Lib unbl HAni@olliy cuamrys.
Write a note on ‘Map Projection’.

[ Splys / Turn over
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43.

44.

45.

46.

47.

lfley - 3 / SECTION - 3

Glgemwullwed wHmib Gummemtgnrn / CIVICS AND ECONOMICS

eremeuGuiend Qe elamésEnsa@ L b efenLwefldsab.

Answer any two questions only.

2x2=4

sow&smmierepoeanw UFLbL ukisallss Ho @bdlwnsers QWSS &DILILAHS.

Name some of the Indians who contributed to spread of Secularism.

smened eluggGsaten Chrlg alleneTe e cremer ?

What are the direct consequences of road accidents ?

QummeTTHTISSed SMHLLIL LamsSlern allenereyser Wmanal ?

What are the effects of black money on economy ?

QurgISgienmaaten epemm 2 MLILISET uiTenal ?

What are the three organs of public sectors ?

L@&d) - III / PART - III

EpssTamid elarmmasEnd@. elanLwefléseyb.

Answer the following questions.

6x5=30

(=) Qeuev@aenesdl 197 creueurm YmSCowu YHss5ms @QbdHwrele ollfley

U gleomr ?
S|6V6VG

(=) sroaisgiel BsTULD eueTTEFslenwll LUndl elersd@s.

(a)

(b)

How did Lord Wellesley expand the British Power in India ?
OR

Describe the colonial urban development.
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48. (=) e SaaTEOEGD, Y mHCOWHEGD @l Cu CurpmlLgdneE QLUOF

49.

50.

51.

Qeam @Gblanegamer aleufl&sab.
S|6V6VG)
(<) ETHmSs Qusssden srésb @GNsg edflaurs ellenwefléseyb.

(a) Explain the events that led to conflict between Dheeran Chinnamalai and
the British.

OR

(b) Give a detailed account on the Impact of Reform Movement.

(=) urerpaemer euansLIL(HSS elleusseyb.

S|6V6VG)
(<) Hloo dliTenel cuaTUMSS iFem ellenaTalseeTl 1itiq 16l (Hs.
(a) Classify and explain the rocks.

OR
(b) Define Earthquake and list out its effects.

(1) wenipll Gumflefen e algeibigameril WLHM alleufléseyLb.
S|6V6VG)
(=) @Lib Quwisaussrer LeCeum srraubisamer adlfleurs adlems@s.

(a) Give a detailed explanation on different forms of precipitation.
OR

(b) Explain in detail.about the various causes of migration.

(=) spwETTUHD H6vedl B&ESE, et Csaneu ?
S|6V6VG)
(=) smened NLISFHIESET B QUDTOL FHES QbSlw pammisd Cuonblgmemr(herer
punFlsamer cllers@s.
(a) Why do we need secular education ?
OR

(b) Describe the steps taken by the Government of India to prevent Road
accidents.

[ Splys / Turn over
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52.

53.

54.

(1) uaTL DM WPerDUIQIETET SESGET WTene ?
S|6VEVG)

(=) satiwmt glenmuflen LiestlgeaeTi LD eT(LPGIs.

(a) What are the disadvantages of barter system ?

OR
(b) Write the functions of private sector.

U@&3| - IV / PART - IV

EPEFMTL_0eUEHERSHE ST&ECSHT(H eUamTs.
(=) eupgeurdl Gumm

(<) uggmT Gum

(@) BriaL 2 d iy

(FF) whrhisliuliger 2 LaTLig&Hens

(o) Hlevaowrer Hloweufls S ibd

Draw a time line on the following :

(a) Battle of Wandiwash

(b) Battle of Buxar

(c) The Dual Government was abolished

(d) Treaty of Srirangapatnam
(e) The Permanent Settlement

U@&3l.- V. / PART - V

EOEVTSF| 64eTESEH&HGD el L6 &SH6|LD.
Answer all the questions.

Slfley - 1 / SECTION - 1

@pdHw ypeudl flo euarliuiL e Spsarrieihean GNéseab.

<) s s
<, GumIETeT GdlTl@ L
©) ASLFTLNG

(
(
(
(rF) Lrm&sm

(2.) ®jevenmd

Mark the following places in the outline map of India.
(a) Arabian Sea

(b) Bay of Bengal

(c) Ahmedabad

(d) Dacca

(e) Assam

5x1=5

5x1=5
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9lfley - 2 / SECTION - 2

55. 2 @& aumrULSHd PSSR QL BiGmers @N&sa. 10x1=10
(SN) Mg CLpBISL 6

<y,) dlfarenbg

@) WL &HT

") @pdur

2 ) FeguIm

26T ) B OTEVGT

o) &Foydl Crwir

&) mlaentiqeorm

) e Cradlwim

(e2) sgLaLImeT
Mark the following places in the World Map.

(
(
(
(
(
(
(
(

(a) Arctic Ocean
(b) Greenland
(c) Antarctica

(d) India
(e) Russia
(f) Alaska

(g) Saudi Arabia
(h) Argentina

(i) Australia

) Japan

-00o0-
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